LiStS and GCD HackerRanki

We call an integer p > 1 a prime number (or simply a prime) if its only positive divisors are 1 and p.

Fundamental theorem of arithmetic states: Every positive integer n can be uniquely expressed as a
product of power of primes, i.e.,

N =p* xpy? X pg® X ...
where,
o p; is the it® prime, i.e., p1 = 2,p2 = 3,p3 =5, ...
Greatest common divisor of two positive integers
For two positive integers, A and B, whose prime factorization is represented as
A=p" xp3? xpd x...
szl{l ><pg2 ng3 X uus
We calculate the greatest common divisor, ged(A, B), as

ged(A, B) = pgm'n(al,bl) x p;nin(az,bz) v pg%in(%,bs) X ...

Greater common divisor of a list of numbers

Greatest common factor of a list of positive integers, Ist = {l1,12,...1;}, is represented as

QCd(lSt) = ng(ll)ng(l27ng(l3, cee (QCd(lq—la l(J)) .. )))

Finite representation of prime factorization

Since primes are infinite, it is not possible to store factors in the form provided above. To that end, we
will only consider those prime factors (p;) whose power is greater than zero (n; > 0). That is:

sz?lh ><p;.7:2 ><ij3 X uus
, Where
* Pi; < Dijq
« 0<mny, jEIL,2,...]; forrestn; =0
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And we will represent them as following:
N = p;; n, pi, N, Dig Nig ...
For example:
c49=T7"=172
«28=22x7'=2271

Challenge

You are given the elements of list, Ist, in the representation provided above. Find its greatest common
divisor, i.e., ged(lst).
Input Format

First line contains an integer, g, which is the size of list, lst.
Then follows q lines, where it line represents the factors of it" element of lst, l;

Output Format
Print one line representing the greatest common divisor of [st (gcd(lst)) in the above representation.
Constraints
. 2<g<1000
« All other integers lie in [1,10°]
e 1 < Total number of prime factors of an element < 100
Notes

e Test cases are designed such that gcd(lst) will always be greater than 1.

Sample Input #00

N a N
NN

Sample Output #00

Sample Input #01

3253
53111

w N
NN
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2233547 6 19 18
3 10 5 15

Sample Output #01

3253

Explanation

Test case #00: st = {72,22 x T'}. Therefore gcd(lst) = T*.
Test case #01: Ist = {22 x 3% x 53, 82 x 53 x 111, 2% x 33 x 5% x 70 x 1918, 310 x 515},
gcd(lst) = 3% x 53
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